PAPER CODE - 7461 D /94 Y Cr-10-17

12018 yih () iiges/ (BIOLOGY) (1,

12 = AF, er15=ch 2017 - 2018 1 2015 - 2017 : FXE

IS IWE s SN s\ LI YRR iy D 2 CBA ARl Ly 2

b il LS LSy SN LS f s Aol i s B ST

1407
If both lungs are inf#dtad the disease s called ?aﬂfd&?{’_{mw’p{;}:u’){ubﬁ S
Arthrites u#}ﬂ' (D) Gout L5¥ (C) Double Pneumonia P:"Ji (B) Typhoid ¥4t (A)
U Shape Renal Tubules is called etV P ulad s 2
Cortex u‘g)b’ (D) Loop of Henle E‘J..JTV) (C) Pyramids Jiis (B) Neuron wlx (A)
There are major region of Human Brain ggLnﬁt_.zd:f,l.:ﬁwuf -3
58,(D) 44 3£ (B 2»A)
The middle layer of Eye Is called q_alﬂ.’? OendfT .4
Choroid X1/ (D) Cornea {.§ (C) Retina k&, (B) Sclera ! ,c" (A)
Tendons and .Ilg;men.ts are bands of ujuglfu‘bﬂ PP

Nervous tissue %/ (B) Muscular tissue 2 )
Connective tissue ;‘Jﬂ (D) Epidermal tissue ;‘-U;héf (C)

Bryophyllum (Pather Chut) Is a example of oL AF Mt
_ Leaves % (D) Suckers i~ (C) Bulb #¥(B) Stem Tubers i< (A)
Amogba reproduces a sexually by q—&ﬂé;’tfk V4%
Binary fission ¢*15/%} (B) Budding &% (A)

Multiple fission L}“udl' (D) 'Fragmentationamd,i((:}

VB DNA Ll

James Watson and Francis Crick proposed the structure of DNA

1953 (D) 1854 (C) 1954 (B) 1955 (A)
Mendel selected a plant : Yoy L Jor
Mustard 3> (D) Cabbage % (C) Rose Ju (B) Pea 2 (A)
WPt Stk L1y St 1027

in 1927 an Eni;iiéh Eébibglst déveloped the concept of Ecological pyramids
Lamark OiU (D) Darwin @} (C) Mendel dia' (B} Charles Elton uﬂﬂu{«y (A}
Animal Breeding is a form of _ q_()ul_ﬁtf (Breeding) U”L))JLJJJQ
Biotechnology (#t€¢| (C) Cell Biology &7kl K (B) Pharmacology (#¥1/6 (A)
' - ' Morphology (464 (D)
Mascallne'bélongs to | _' . ' ?ngﬁ)ﬁjs’,:
Hallucinogens ;254 (D) Sulpha drugs S35k (©) Vaceine ;r": (B) Antibiotics U171 (A)
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Q.No.2 Write short answers any Five of the following _ §x2=10 (& fein Ly e LS SB) 2N

How does the gaseous exchange occur in leaves and young stems ? .;.m;".bprurfu:uféf&{.mug !
What Is meant by diaphragm ? 'l 'f("'l")w 5
Differentiate between Stomata and Lenticels 43&0## L%!F?{l” r
Define Hydrophytes and give an example 4‘:«1!‘*»'4:!/1(0"' 21 _
What is meant by concentrated urine ? Give ts reason &Mm £ el tsblf| o
What Is meant by Saltatory Impulses ? T e splfe A Y
Differentiate between Sénsory Neurons and Interneurons gf (‘j ORI Ll 2 | <
What is Thalamus ? Write its function a".'fg J‘ftﬂ ¢ e Y% Z1 A
Q.No.3 Write shortanswers any five of the following __ 5x2=10 (& fetit/PL oty fie ks 3y
Differentiate batw;an movement an;:i. locomotion: . %ﬂw/uwﬂ'h‘)j’ !
Differentiate between Osteocytes and Chondrocytes @EJMU“' sl | 7
What is reproduction ? Write names of its two basic types #i"tf.(l}ld:ﬁmfw g q.ﬁ;’;:#z r.
Define Budding and give one example .’{":Jh;iécyﬂf.fé "
Differentiate between Self Pollination and Cross Pollination @yo,uﬁuuﬁm‘%ak 8
What are Honiozfg.m.m. ganotype ;ﬁd IHetrozygous genotype 7 T ;.;l/k(a..; bREU Yl l'r."gfqﬂ b
_ Differenﬂats.betwaan monohybrid cross and dihybrid cross %W)‘;M.céwlbﬂwﬁj }b’ '
Write two sources of variations fﬁ;;éb-‘uﬁ&’j A
Q.No.4 Write short answers any five of the following 5x2=10 (4{}*}&/‘91@!1':'5&&_&4_ 3Ts) ty-i)fr
Define food web. 4’_2,&!.,‘:33 1
Differentiate between herbivores and carnivores . éﬁ;ﬂﬂb;;d;&ﬂjmd alr
What is atmospheric nitrogen fixation 7 _ ! q—-GﬁE@‘"’p Papidud| r
Write. down two advantages of using fermenters «’.:.’g,’l}mf..’..)at-‘-"'l) KA
Write down few uses of formic acid :4;;.’4111.-"!;;5;4!_!;5 o
Define narcotics. Give exam ples éj'}dl‘mléf:.gﬂfugt 1
What is the difference betwéen antiseptics and antibiotics 7 ? e INLUE B S| ¢
What is meant by pharmacology ? T 5_»;;{.—.&,1;145 A
- (AT e o)
NOTE : Attempt any two questions from this part 9x2=18 .;.d»)nf.f.:.mm&{;_w.ﬂ il
' 4 &,‘,C-.’D:J rgL}IZuul.;bi;_z..pLp)‘xrg;;![}wﬁ;:uug (A) - 540
Explain the removal of extra water and other metabolic wastes from plants
s & Btue Spndlommalo s cobnodfinds| @)
What is the location of thyroid gland ? Write about its hormones and the defects produced by
their under and over production ) .
What s artheritis ? Describe its three types 4 g;;;rul,_.,fjm t e WAAT] (a) 840w
Describe the development and structure ofseed 5 g:)kc-g}'-‘v .s.sl.—..{(,mw.ra (B) I .
B i 4’--»%?9!»@ ® el e b Jorki| (A) -7 A
What is meant by Ecological Pyramids ? Explain its two types 4
Describe the scope and importance of Biotechnology 5 qi@g.c.ju,n.,hwwf ¢l (B)
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The number of dangerous chemicals in tobacco smoke is .;.:!.JJJE‘-( wlBLYALIZ
' 4000 (D) 3000 (C) 2000 (B) | 1000 (A)
The organ for flteration of blood Is Ml PHop 2

Brain /< (D) Lungs <% (C) Kidney o/ (B) Heart Us(A)
| bl b/ SIS K ironbuk -3
Part of neuron which takes Impulses towards cell body are called '

Myelin sheath ¢34 il (D) Ganglia W€ (C) Axons 5551 (B) Dendrites (ulil,in3 (A)

All of these are hormones except aigturaely -4
Estrogen /s> (D) Glycogen A3 (©)  Glucagon ufl’:‘ (B) Insulin u"r’f (A)

Number of bones In human skull is q-:'»’JU&uﬂd{:fdw -5
' 19 (D) 20(C) 21 (B) 22(A)

Method of asexual reproduction in yeast is q.:ﬁ)ﬁ?ﬁ,!&&-;: -6

Budding £% (C) Binary fission c)’ll.ff’k- (B) Multiple fission g,r"uJL (A)
Spore formation /%6 (D)
Asexual reproduction by suckers takes place in 5..be¢413;;_)?6”/? -7
Potato JT (D) Ginger ! (G) Lily &/ (B) Mint s (A)
" P Iﬂr;/f& 0 -8

The genotype of blood group O is
' o rie B e M @

Union of sperm and ovum is called -q..li'lifyuvl'(.uwr/: -9
Allele 1 (D) Fertilization o272} (C) Genes s (B) Gamete wef (A)

All ecosystems of the world together form SN ERL 10
Specles 2{5 (D) COmmunl'ty d’:..f (C) Population .fiﬁ (B) Biosphere /é*ﬂ (A)

Lactic acld fermentation takes place by 4.(3@;@&’-*/1&!-59 <11

Bacteria | ,}f (D) Virus 71s (C) Yeast wu-x(B) Algae L{i (A)
GO OB srrpPloes 2 KL 12

" Chemicals which kills microorganisms on non-living objects are called

Disinfectants ("< I} (D) Antibiotics (% (C) Antigens ¢?(*! (B) Antiseptics Jé‘f?-r (A)
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Q.No.2 Write short answers any Five of the following 5x2=10 (gi;)’..:.}{z/yﬁ.wv éka.ddlbw) 2 /,Ufr
How specific sound for talking is produced ? ? e el i) 1
How expiration occurs ? T q_&pq.g(,}}é;ﬁ ’f{l r
Give symptoms and cure of pneumonia Z:.‘%,lb»!a&lhd’ k:" r
What is meant by metabolic wastes ? L .,—.:VL&.U»I.;Q.L;‘.&Q ”
Define guttation and give one example @Jh.{bﬂ&:ﬂ_ﬂ g’f 0
What is meant by night blindness ? L el e L ilal| 1
What is ganglion ? ? q_.y’g)k‘f Z
Where pons are present in brain and what is their function ? T Q.Liffb’l’umil_g!_xmru%ﬁbhy'k A

Q.No.3 Write short answers any five of the following ~ 5§x2=10 (4;}:4&/”&&0[? sl,-t'_-udut}&d) 30y
Differentiate between origin and insertion BTOALS e |
What is meant by antagonism 7 b q..:yy(;rﬂ'fkf r
What is meant by Fragmentation ? Give an example 4‘:;)@' f q.ﬂ/k(:.-c/’f& 2lr
Write down procedure of budding in corals zg?s’:e)r..f -2 A
What is meant by parthenogenesis ? ¢ ele e o
Differentiate between monohybrid cross and dihybrid cross é( g‘IJJ}.L,nMAJkJUJJJM.CJ;;f 1
State Mendel's law of segregation %y u}‘—‘{fh}‘f S
What is meant by co-dominance ? b ;_;!/[;:..JH;H' A

Q. No.4 Write short answers any five of the following 5x2=10 (4{}’@{,@#&1:.1!!{&5:.&{23&») ty,‘UFr
What is the difference between Producers and Consumers ? 4;}#5,{;.'}/{%1!%3,{ f
What is meant by pyramid of Numbers ? ] 4..:{/{:..)/5.}'&!}& r
Define Atmospheric Nitrogen Fixation _ :,{_eﬂ{ .,-/‘-"gg’».-;’eduﬁ r
. | Write two uses of Formlc Acid : éjdhhu&idi.ﬁﬁ r
What do you mean by continuous Fermentation ? g ugi.kgvfutgiéu’g}pw 8
Differentiate between sedatives and disinfectants @yj/uﬂu’b;uﬁkkghubﬁwﬂ 1
Write down four precautions before the use of medicine Qijgi;(?hk&#c,é_fdwu’;.pﬂ Z
What is cephalosporin ? Writs its two uses 8{( ‘var;;;.dfﬁqu}r;w A

( (PARTIl Jppdian )
NOTE : Attempt any two questions from this part 9x2=18 c$nftfSfeirme e o) S
Explain ecsmoregulatory function of kidney 4 4(9%&)) d}éLﬁi&.J {A) -8 A{JI,-

5 4;:9:0?&»&}1 T .?.JVJ‘Q"—)"}MH (B)
What is meant by feed back Mechanisms ? Explain its two types

Explain Osteoporosis 4 gwbg(ffy{f’ﬂ A -84y
Write note on the following : 5 : a.ﬂ.b.n’{d sauue | (B)

(1) Fragmentation  (2) Parthenogenesis ;f"yz":; {2) u‘-":/‘ (1)

Write a note on nitrogen fixation in nitrogen cycle 4 4‘&}4‘—)’4’“&,}’:&:&’»&,}’; Ay 740
Discuss In detail basic steps in genetic engineering 5 %’M;ﬁﬁ;y&f}fi.@ (B)
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